Vehicles will cross the intersection in the following order:

The first to drive through the intersection:

1.Passenger car, bus, trolleybus.
2.Trolleybus and bus, passenger car.
3.Trolleybus, passenger car, bus.

Ans.'3

1.Red car.
2.Blue car.
3.Ayellow car.
4.Green car.

Ans.*4

The last one to drive through the intersection:

1.Blue car.
2.Green car.
3.Red car.

Ans.'1

The blue car will drive through the intersection:

1.The first
2.The second

Ans.'1

Which answer correctly indicates the order of passing an
intersection?
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1.A bus, a car, a bicycle.
2.A car, a bus, a bicycle.
3.Bicycle, bus, passenger car

Ans.'3

The second will drive through the intersection:

1.Tram
2.Red bus.
3.Blue bus.

Ans.'1




In which direction is traffic prohibited? The second to drive through the intersection:

1.To the right into the first passage. 1.Green car.
2.To the right into the second driveway. 2.Red car.
3.To the right into the first and second passageways. 3.Blue car.
Ans.'2 Ans.'2
The second to drive through the intersection: The second to drive through the intersection:

1.Blue car. 1.White car at the same time as yellow.
2.Green car. 2.Red car.
3.Red car. 3.Green car.
Ans.'1 Ans.'2
The last one to drive through the intersection: The driver of which vehicle must give way?
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1.Blue car. 1.Bicyclist

2.Yellow car. 2.Car driver

3.Green car.

4.Red car. Ans."2

Ans.'3




The first to drive through the intersection:

1.Green car.
2.Blue car.
3.Red car.
4.Yellow car.

Ans.'3

Vehicles will drive through the intersection in the following order:
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1.Motorcycle, car, streetcar.
2.,
3.Tram, motorcycle, car,

Ans.'1

The second to drive through the intersection:

The last one to drive through the intersection:

1.Red car. 1.Green car.
2.Blue car. 2.Blue car.
3.Green car. 3.Red car.
Ans.'2 Ans.'3
Which car will be the last to drive through the intersection: The first to drive through the intersection:
1.Blue. 1.Green car.
2.Red. 2.Red car.
3.Green. 3.Blue car.
Ans.'2 Ans.'1




The driver of which vehicle must give way?

The first to drive through the intersection:
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1.Bus driver. 1.Red car.
2.Motorcycle driver. 2.Green car.
3.Blue car.
Ans.'1
Ans.'3
The second will drive through the intersection: The third will drive through the intersection:
1.Blue car. 1.Blue car.
2.Green car. 2.Yellow car.
3.Red car. 3.Green car.
4.Red car.
Ans.'1
Ans.2
Red car: The cars will drive through the intersection in the following order:

1.has an advantage in traffic as it approached the traffic circle
intersection from the right side of the blue car.
2.Must allow the blue car to pass on the road with circular traffic.

Ans.'2

1.Yellow, green, blue car.
2.Blue at the same time as green, yellow.

Ans.'2




The third will drive through the intersection:

1.Yellow car.
2.Red car.
3.Blue car.
4.Green car.

Ans.'3

The first to drive through the intersection:

1.Green car.
2.Blue car.
3.Red car.

Ans.'3

Vehicles will drive through the intersection in the following order:
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1.Red, green, blue, black.
2.Green, red, black, blue.
3.Green, red, blue, black.

Ans.'1

Vehicles will drive through the intersection in the following order:

1.Tram, yellow car, green car.
2.Tram and green car, yellow car.
3.Green car, yellow car, tram

Ans.'2

Which driver has first priority movement?

1.Motorcycle driver.
2.Car driver

Ans.'2

The second to drive through the intersection:.

1.Red car.
2.Blue car.
3.Green car.

Ans.'3




The driver of which vehicle must give way?

1.Tram driver
2.Lorry driver.
3.Car drivers.

The red car will drive through the intersection:

1.The first.
2.The second.

Ans.'1
Ans.'3
Vehicles will drive through the intersection in the following order: The driver of which vehicle has the right to priority movement?
(
1.Passenger car, bus, bicycle. 1.Car driver.
2.Bus, bicycle, passenger car. 2.Bicyclist.
3.Bus, car, bicycle. .
4.Bicycle, bus, car. Ans.’2
Ans.'4
Vehicles will drive through the intersection in the following order: The driver of which vehicle must give way?
1.Tram, car, and bus at the same time. 1.Blue car driver.
2.Tram, bus, car. 2.Red car driver.
3.Bus, tram, car,
Ans.'1

Ans.'1




The driver of which vehicle must give way?

1.Car driver.
2.Motorcycle driver.

Ans.'2

Which vehicle driver correctly enters a traffic circle intersection?
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1.Both drivers.
2.0nly the bus driver.
3.0nly the driver of a passenger car.

Ans.'1

Which vehicle is entitled to priority traffic?

Specify the order of passing the intersection:

1.Red car as it enters an intersection with traffic circle traffic to the
right of the blue car.
2.Blue car, as it is driving on the road with traffic circle traffic.

Ans.'2

1.Blue, red at the same time as green.
2.Red, blue, green.
3.Red simultaneously with green, blue.

Ans.'3

The driver of a green car:

1.is entitled to priority traffic.
2.Must give way

Ans.'1

The last to drive through the intersection:

1.Red car.
2.Blue car.
3.Green car.

Ans.'3




The second to drive through the intersection:

The cars will drive through the intersection in the following order:

1.Green car.
2.Red car at the same time as the blue car.
3.Yellow car.

1.Blue, green, red.
2.Red, blue, green,.
3.Green, red, blue.

Ans.'2 Ans.'2

The second will drive through the intersection:

The red car will drive through the intersection:

1.Green car.
2.Blue car.
3.Red car.

1.Second, at the same time as the blue car.
2.Second, after the yellow one.
3.Third, after green and yellow.

Ans.'1 Ans.'1

The yellow car will drive through the intersection:

Which answer correctly states the order of passage?

1.The first.
2.The Second.
3.The third.
4.The last.

1.Motorcycle, bus, truck.
2.Bus, motorcycle, truck.
3.Bus, truck, motorcycle.

Ans.'4

Ans.'1




Vehicles will drive through the intersection in the following order:

The driver of which vehicle must give way?

1.Passenger car, bus, tram
2.Tram, bus, passenger car.
3.Tram, car, bus.

Ans.'3

1.Driver of a passenger car.
2.Bus driver.

Ans.'2

Which vehicle should give way?

Vehicles will drive through the intersection in the following order:

1.Blue car.
2.Red car.

Ans.'2

1.Yellow bus, truck, green bus.
2.Truck, yellow bus, green bus.
3.Yellow bus, green bus, truck.

Ans.'2

Vehicles will drive through the intersection in the following order:

1.Bus, passenger car and truck at the same time.
2.Passenger car and truck at the same time, bus.

Ans.'1

In what order will vehicles drive through the intersection if the traffic
lights do not work?

1.Trolleybus and motorcycle, bus and car.
2.Motorcycle, bus and car, trolleybus.
3.Bus and car, trolleybus and motorcycle.

Ans.'2




Vehicles will drive through the intersection in the following order:

Vehicles will drive through the intersection in the following order:

1.Truck, tram and bus, motorcycle and car.
2.Tram and bus, motorcycle and car, truck.

Ans.'1

1."Ambulance”, tram, motorcycle, bus, car.
2.Motorcycle, bus, tram and an ambulance, car.

Ans.'2

Vehicles will drive through the intersection in the following order:

Vehicles will drive through the intersection in the following order:

1.Truck and motorcycle, bus, trolley bus.
2.Truck and bus, motorcycle, trolleybus.

Ans.'1

1.Truck, passenger car, bus, tanker truck.
2.Truck, bus, passenger car, tanker truck.

Ans.'1

The passenger car will drive through the intersection:

Vehicles will drive through the intersection in the following order:

1.The first.
2.The second, after the bus.
3.The third.

Ans.'2

1.Passenger car, bus, truck.
2.Bus, truck, car.
3.Bus, car, truck.

Ans.'2




Vehicles will drive through the intersection in the following order:

1.Truck, car, bus.
2.Bus, truck, car.
3.Bus, car, truck.

Ans.'1

Can you make a left turn at this intersection at the same time?

1.Yes
2.No. The driver of the passenger car must give way
3.No. The truck driver must give way

Ans.'1

To whom do you have to give way in this situation?

1.0Only bus
2.Passenger car
3.None

Ans.'3

When turning left in this situation

1.You will stop at the crossroads first
2.You will give way to the truck driver

Ans.'1

When turning right in this situation

In case of continuing the route straight

1.You will stop at the crossroads first
2.You will give way to the passenger car driver

Ans.'1

1.You will stop at the crossroads first
2.You will stop after the passenger car passes

Ans.'2




In this case, it is necessary to give way when reversing it is
necessary to give way to

In this situation, when crossing the intersection not to obstruct
pedestrians

1.Passenger car
2.Both drivers

Ans.'1

1.You have to
2.You don't have to

Ans.'1

In traffic jams after the crossroads entering the crossroads is allowed

You have to give way to
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1.1f you continue driving straight
2.1f we make a turn or reverse
3.In all cases listed.

Ans.'2

1.Motorcycle driver
2.Passenger car
3.None

Ans.'3

In this situation, when making a left turn, you have to give way to

You have to give way to

1.Passenger car driver.
2.Bus driver.
3.None

Ans.'3

1.Only tram driver
2.Truck driver
3.Both drivers

Ans.'3




The road must be given way to

1.Bus driver
2.Both drivers
3.None

Ans.'3

In this situation passing the crossroads do you have to give way?

1.Yes
2.No

Ans.'2

When passing the crossroads in this situation

1.You have the right to pass first

2.You have to give way to the tram driver
3.You have to give way to the truck driver
4.You have to give way to all the drivers

Ans.'1

The driver of the vehicle entering the intersection equipped with a
roundabout marked "Roundabout traffic"

1.Has to give way to the vehicle travelling at that intersection
2.Has a traffic advantage over the traffic users already travelling at
that intersection

Ans.'1

In this situation, during the left turn you have to give way to

Which driver should not obstruct pedestrians?

1.All the drivers
2.0nly the passenger car driver
3.Bus and passenger car drivers

Ans.'3

1.Passenger car driver.
2.Truck driver
3.Both drivers.

Ans.'3




In this situation can the driver, make a left turn

In this situation when making a left turn the driver has to

1.Yes,
2.Yes, if does not obstruct the truck driver
3.No

Ans.'2

1.Give way
2.Stop at the crossroads first

Ans.'1

The signs show that

In case of making a left turn in the second pass, the driver

1.1t will be necessary to give way to the one crossing the road from
200 meters
2.You have to give way at the section of 200 meters

Ans.'1

1.Has an advantage
2.0ught to give way to the other drivers
3.0ught to give way to the bus driver

Ans.'3

The driver crossing the intersection straight

Who should the driver give way to when making a left turn?

1.Can pass first
2.0ught to give way to the tram
3.0ught to give way to both drivers

Ans.'2

1.Bus driver
2.Passenger car
3.None

Ans.'1




The driver entering this intersection

Who should the driver give way to when making a left turn?

1.Has a priority driving
2.0ught to give way to the truck
3.0ught to give way to both drivers

Ans.'3

1.Both drivers
2.Passenger car drivers
3.Bus driver

Ans.'1

In this situation you ought to give way to

When making a left turn

1.Both drivers
2.0nly the oncoming truck

Ans.'1

1.You will stop at the intersection first
2.You will give way

Ans.'1

In this situation when making a right turn

When making a right turn

1.You will drive through the intersection first
2.You will give way to the passenger car driver
3.You will give way to both drivers

Ans.'1

1.You ought to give way
2.You can pass first

Ans.'2




When making a left turn you ought to give way to

1.Bus and motorcycle drivers
2.Bus driver
3.All

Ans.'3

When making a left turn
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1.You will stop first simultaneously with the passenger car
2.You will stop after the motorcyclist

Ans.'2

When driving straight you ought to give way to

1.Both drivers
2.0nly passenger car driver
3.None

Ans.'1

Do you have to give way to the tram?

1.Yes
2.No

Ans.'1

In this situation, when is a right turn allowed?

1.Immediately
2.If the truck is not obstructed, simultaneously with its passing
3.After passing of the truck

Ans.'2

When making a left turn, you must give way to

1.0Only bus driver
2.Both drivers
3.None

Ans.'1




The driver is obliged not to obstruct pedestrians

1.0nly when making a left turn
2.0nly when making a right turn
3.Similarly in both cases

Ans.'3

On the right turn you must give way to

1.Pedestrians and cyclists
2.Pedestrians only

Ans.'1

When making a left turn you must give way to

1.0nly passenger car driver
2.Passenger car and bus driver
3.None

Ans.'1

When the driver can not determine the presence of road surface
(during the dark day, mud, snow, etc.), and there are no signs of
advantage, then

1.He should consider that he is on the secondary road
2.He must be guided by the rules of equal intersection.

Ans.'1

In this situation, you must give way to

You must give way to

1.All drivers
2.Truck driver only
3.Passenger car driver only

Ans.'1

1.Passenger car driver.
2.Bus and passenger car driver
3.All drivers

Ans.'2




When reversing at this intersection

1.You will do the manoeuvre first
2.You must giveaway to the other drivers

Ans.'2

When passing straight the intersection in the condition of the yellow
flashing signal of the traffic light

1.You stop and wait for the green signal to turn on
2.You must give way to the passenger car driver
3.You must give way to the tram drive

Ans.'2

In case of straight driving

When reversing you ought to give way to

1.You can drive through the intersection first
2.You must give way

Ans.'2

1.Truck driver
2.Passenger car driver
3.Both drivers

Ans.'1

When making a left turn you are required to give way to the tram

1.Required
2.Not required

Ans.'1

In this intersection do you have to give way to the truck approaching
from the unsurfaced road?

1.You have to, since it approached from the right
2.You don't have to, since the road with solid surface is the main one
for the unsurfaced roads

Ans.'2




In the case of a yellow flashing signal

When turning left, you must give way to

1.You have to wait for the green signal to turn on

2.You have to cross the intersection giving way to the driver of the
cart

3.You have to cross the crossroads at the same time as a passenger
car

Ans.'2

1.Passenger car driver
2.Bus driver
3.Motorcycle driver
4.None

Ans.'4

In this situation

1.You must give way to the truck driver
2.You can pass the intersection simultaneously with the tram

Ans.'1

When passing the intersection you must give way to

1.Motorcycle driver
2.Motorcycle and bus drivers
3.Bus and passenger car drivers
4 All the drivers

Ans.'4

In this situation you must give way to

1.The tram driver only
2.Passenger car driver
3.Passenger car and tram drivers
4.All the drivers

Ans.'3

When turning left in this situation

1.You must stop at the intersection first
2.Entering the intersection you must give way to the motorcycle
driver and then finish the manoeuvre

Ans.'2




When passing straight the intersection you are required to give way
to

1.Truck driver
2.Passenger car driver
3.Both drivers

Ans.'3

In this situation

1.You will pass the intersection first
2.You will give way to the passenger car driver
3.You will give way to both drivers

Ans.'2

You have to give way to

1.Both drivers
2.Passenger car driver
3.Bus driver

Ans.'1

At this intersection

1.You will pass first
2.You will give way to the truck

Ans.'2

Do you have to give way to the tram driver?

1.You have to
2.You do not have to

Ans.'1

When making a left turn you have to give way to

1.Truck driver
2.Both drivers
3.None

Ans.'1




At this intersection

Do you have to give way to the tram?

1.You have to give way
2.You have to stop first

Ans.'2

1.You have
2.You do not have to

Ans.'1

In this situation reversing is allowed

1.Only after the truck
2.Simultaneously with the truck, if it does not obstruct the truck driver

Ans.'2

When driving straight you have to give to

1.Passenger car driver
2.All
3.None

Ans.'1

In this situation you are required to give way to

Which picture shows the highway?

1.Bus driver
2.Truck driver
3.Both drivers

Ans.'3

1.Only left
2.Below and left
3.All

Ans.'2




Which picture shows the highway? Which picture shows the highway?

_ 1.Top left

1.0_nly right 2.Top right

2.Right and below 3.In the pictures above
3.All 4.Al

Ans.'2 Ans.'3

Which road is considered highway at the intersection?

1.Road with hard surface (asphalt concrete, cement concrete, stone
materials, etc.) towards the soil surface

2.The three-lane road in every direction towards the one-lane road
3.Asphalt-concrete road towards the paved road

Ans.'1




